Difference Equation Higher Order (H.3)

20161224

Copyright (c) 2016 Young W. Lim.

Permission is granted to copy, distribute and/or modify this document under the terms of the GNU Free Documentation License, Version 1.2 or any later version published by the Free Software Foundation; with no Invariant Sections, no Front-Cover Texts, and no Back-Cover Texts. A copy of the license is included in the section entitled "GNU Free Documentation License".

Based on Complex Analysis for Mathematics and Engineering
J. Mathews

a P-th order Linear Constant Coefficient Difference Equation

$$y[n] + a, y[n-1] + \cdots + a_p y[n-p]$$

= $b_0 x[n] + b_1 x[n-1] + \cdots + b_n x[n-n]$

$$\{a_i\}_{i=1}^p \{b_j\}_{j=0}^q$$

$$\begin{cases} \chi_n = \chi(n) \end{cases}_{n=0}^{\infty} \quad \text{imput (given)}$$

$$\begin{cases} \eta_n = \chi(n) \end{cases}_{n=0}^{\infty} \quad \text{output}$$

p: the order of the difference equation

$$y(n) + \sum_{i=1}^{p} \alpha_i y(n-i) = \sum_{j=0}^{n} b_j x(n-j)$$

$$y[n] = \sum_{j=0}^{n} b_j \times [n-j] - \sum_{i=1}^{p} a_i y[n-i]$$

function of the past output values y [n-i] and
the present input values x[n] and
the previous input values x[n-j]

$$y[n] + \sum_{i=1}^{p} a_i y[n-i] = \sum_{j=0}^{n} b_j x[n-j]$$

$$Y(z) + \sum_{i=1}^{p} a_i Y(z) z^{-i} = \sum_{j=1}^{q} b_j \times (z) z^{-j}$$

$$Y(z) \left(1 + \sum_{i=1}^{p} \alpha_i z^{-i} \right) = X(z) \sum_{j=0}^{q} b_j z^{-j}$$

$$H(\xi) = \frac{Y(\xi)}{X(\xi)} = \frac{\left(\sum_{j=0}^{4} b_{j} \xi^{-j}\right)}{\left(1 + \sum_{j=1}^{4} \alpha_{i} \xi^{-j}\right)}$$

$$y_{p[n]} = h_{[n]} * x_{[n]} = X^{1}[H(z)X(z)]$$

$$y_{p[n]} = h[n] * x[n] = \sum_{i=0}^{n} h[n-i] x[i]$$

Difference Equations with Initial Conditions

Only the present value of the input

$$y[n] + a, y[n-1] + \cdots + a_p y[n-p] = x[n]$$

$$y[n+p] + \alpha_i y[n-l+p] + \cdots + \alpha_p y[n] = x[n+p]$$

$$\mathcal{Z}[y(\eta+2)] = \mathcal{Z}(\mathcal{Z}(Y(2)-y_0)-y_1) = \mathcal{Z}^2(Y(2)-y_0-y_1\mathcal{Z}^{-1}) \\
\mathcal{Z}[\chi(\eta+2)] = \mathcal{Z}(\mathcal{Z}(X(2)-\chi_0)-\chi_1) = \mathcal{Z}^2(X(2)-\chi_0-\chi_1\mathcal{Z}^{-1})$$

$$\xi^{2}(Y(z) - y_{0} - y_{1}z^{-1}) - 2\alpha z(Y(z) - y_{0}) + bY(\xi) = \xi^{2}(X(z) - x_{0} - x_{1}z^{-1})$$

 $(\xi^{2} - 2\alpha \xi + b)Y(\xi) - (y_{0}\xi^{2} + y_{1}\xi - 2\alpha y_{0}\xi) = \xi^{2}X(\xi)$ $\lambda_{0} = x_{1} = 0$

$$\frac{Y(2) = \frac{2^2 \times 12}{(2^2 - 202 + 1)} + \frac{3.2^2 + (3.-108.)2}{(2^2 - 202 + 1)}$$

2
$$y \in \mathbb{Z}^{-1}[Y(z)] = \sum_{i=1}^{k} \operatorname{Res}(Y(z)z^{m}, z_i)$$

teal coefficien function $f(z) = Y(z) z^{n+1}$ zj polo Z; pulc Res[Y(2) 2", Z;] = Res[Y(2) 2", Z;] $Res[f(z), \overline{z_j}] = Res[f(z), \overline{z_j}]$

A[4+N] +	a, y [n+N-1]	+ +	AN-1 7[11+1] -	+ 0N 7 Cm] =
+ [M+m]x Mud				

	α,		FUA	ON
9[n+N]	y [n+N-1]	• • •	y [n+1]	7 CmJ
$\chi [n+M]$	X[n+M-1]		x [n+1]	$[c_n]_x$
bung	bn-mti		PM	PM

NZM Causal Condition

N=M

 $y[n+N] + a_1y[n+N-1] + \cdots + a_Ny[n+1] + a_Ny[n] =$ $b_0x[n+M] + b_1x[n+M-1] + \cdots + b_Nx[n+1] + b_Nx[n]$

	a,		444	ON
Y[n+N]	y [n+N-1]	• • •	y [n+1]	ን ር ግጋ
χ [n+M]	X[n+M-1]	•••	X [7+1]	$l_{\mathbf{r}}^{\mathbf{r}}$
bo	bı		pm	PM

```
\mathsf{E}\,\mathsf{x}(\mathsf{n}) = \mathsf{x}(\mathsf{n}+\mathsf{I})
        E^{\lambda}\chi[\eta] = \chi[\eta+\nu]
        E^{N}X(n) = \chi[n+N]
  Q[+1] - A y[m] = >([n+1]
  [y[n] - \alpha y[n] = [x[n]]
     (E-めらば) = Ex[ij
(EN + 0, ENT + ... + and E + an) y[m] =
(boEn + b, End + ... + bn = + bn) x[1]
    Q(E) y(n) = P(E) x(n)
 Q[E] = (EN + O, ENT + ... + ON) E + ON)
 PCE] = (boEn + b, Ent + ... + boy E + bn)
```

ZIR (Zero Input Response)

 $y_{z_1}[n] \leftarrow x_{[n]=0}$

(EN + 0, ENT + ... + and E + an) yez [n] = 0

YZI[n+N] + a, yZI[n+N+] +···+ any yZI[n+1] + an yZI[n] = 0

the linear combination of Yzz[n] and advanced Yzz[n] = 0 always zero for all n

 $y_{zz}[n]$ and advanced $y_{zz}[n]$ have the same form $\Rightarrow y_{zz}[n] = C \lambda^n$

Exyal[n] = yaz[n+k] = CAn+k

 $\begin{aligned} y_{zz}[n+N] + \alpha_1 y_{zz}[n+N+1] + \cdots + \alpha_{N+1} y_{zz}[n+1] + \alpha_N y_{zz}[n] &= 0 \\ C\lambda^{n+N} + \alpha_1 c\lambda^{n+N+1} + \cdots + \alpha_{N+1} c\lambda^{n+1} &+ \alpha_N c\lambda^n &= 0 \\ C(\lambda^N + \alpha_1 \lambda^{N+1} + \cdots + \alpha_{N+1} \lambda + \alpha_N) \lambda^n &= 0 \end{aligned}$

 $Q[\lambda] = (\lambda^{N} + a_{1}\lambda^{N+1} + \cdots + a_{N+1}\lambda + a_{N}) = 0$

Characteristic Polynomial

Characteristic Equation

$$y_{i}[n] \leftarrow x_{i}[n] = 0$$

YZZEN+N] + a, yZZEN+N+] +··· + any yZZEN+1] + an yZZEN] = 0

$$Q[\lambda] = (\lambda^{N} + a_{1}\lambda^{N+1} + \cdots + a_{N+1}\lambda + a_{N}) = 0$$

N-th order polynomial -> N roots

Characteristic roots

Characteristic values

characteristic modes

natural modes

- ② some repeated roots (N-r+1) distinct roots $Q[\lambda] = (\lambda \lambda_1)^r (\lambda \lambda_{r+1}) \cdots (\lambda \lambda_N) = 0$
- (3) complex roots $\left(\frac{N}{2}\right)$ complex conjugate roots $\mathbb{Q}[\lambda] = (\lambda \lambda_1)(\lambda \overline{\lambda_1}) \cdots (\lambda \lambda_{N_2})(\lambda \overline{\lambda_{N_2}}) = 0$

$$Q[\lambda] = (\lambda^{N} + a_{1}\lambda^{N} + \cdots + a_{N}\lambda + a_{N}) = 0$$

Yzz [n] Zero input response

a linear combination of the characteristic modes

①
$$\mathcal{N}$$
 distinct real roots
$$Q[\lambda] = (\lambda - \lambda_1)(\lambda - \lambda_2) \cdots (\lambda - \lambda_N) = 0$$

 $V_{ZI}[n] = C_1 \lambda_1^n + C_1 \lambda_2^n + \cdots + C_N \lambda_N^n$

② some repeated roots
$$(N-r+1)$$
 distinct roots $Q[\lambda] = (\lambda - \lambda_1)^r (\lambda - \lambda_{r+1}) \cdots (\lambda - \lambda_N) = 0$

 $\text{VZI}[n] = (C_1 + C_2 n + \cdots + C_r n^{r_1}) \lambda_1^n + C_{r+1} \lambda_2^n + \cdots + C_N \lambda_N^n$

$$\text{NSI}[M] = \left| \mathcal{Y}^{I} \right|_{u} \left(C^{1} \cos(\beta^{I} u) + C^{2} \sin(\beta^{I} u) \right) + \cdots + \left| \mathcal{Y}^{\overline{M}} \right|_{u} \left(C^{M} \cos(\beta^{\overline{M}} u) + C^{N} \sin(\beta^{\overline{M}} u) \right)$$

Impulse Response

 $y[n+N] + a, y[n+N-1] + \cdots + a_{N-1}y[n+1] + a_Ny[n] =$ $b_{N-M} x[n+M] + b_{N-M+1}x[n+M-1] + \cdots + b_{N-1}x[n+1] + b_N x[n]$

(EN + a, EN+ + ... + an E + an) 3[n] = (b, EN + b, EN+ + ... + bn E + bn) x[n]

Q[E] y[n] = p[E] x[n]

Q[E]f [n] = p[E] 8[n]

h[-1]=h[-2]=···= h[-N]=0

h[n] the system response to input 8[n], which is initially at rest. S[m] = 0 to, the Zero input response $\Rightarrow x[n] = 0 \Rightarrow y_{zz}[n] \sim \text{only mode terms} \ y_{c}[n]$ R[m]: zero input response for 170 (: x[n]=8[n]=0) only mode terms for no yc[n] = linear combination of the char modes *Some non-zero value Ao t=0 $\beta[n] = A_0 \delta[n] + y_c[n]u[n]$

```
Q[E]h[n] = p[E]S[n]
     h[-1]=h[-2]= ··· = h[-N] =0
   \beta[n] = A.\delta[n] + y.[n]u[n]
  Q[E] (A \cdot \delta [n] + y \cdot [n] u[n]) = p[E] \delta [n]
    Q[E] yc[n] u[n] = 0 lin comb of char modes
    A \cdot Q[E] \delta[n] = p[E] \delta[n]
A. (E" + a, E" + ... + a, E + a, ) 5["]
 = (boEn + b Ent + ... + but E + bn) 8[1]
A. (Scn+N] +a, Scn+N-1] + ... + a, S[n])
= bo & En+N] + br & En+ M] & od =
A. (Sco+N] +a, Sco+N-1] + ··· + an S[0]) ← n=0
 (1038 Nd + ... + [ru+0]8rd + [N+0]80d =
\begin{cases} S[m] = 0 & m \neq 0 \\ S[o] = 1 & m = 0 \end{cases}
   A_0 = \frac{b_N}{h_N} \Rightarrow h_{[n]} = \frac{b_N}{h_N} \delta_{[n]} + y_{c}[n]u[n]
```

You [m]: Linear Comb. of Char Modes

$$\beta[n] = \frac{bn}{QN} \delta[n] + y_c[n]u[n]$$

$$\hat{Q}[\lambda] = (\lambda^{N} + a_{1} \lambda^{N} + \cdots + a_{N} \lambda + a_{N}) = 0$$

Yez [n] zero input response

(1)
$$N$$
 distinct real roots

$$Q[\lambda] = (\lambda - \lambda_1)(\lambda - \lambda_2) \cdots (\lambda - \lambda_N) = 0$$

$$V_{ZI}[n] = C_1 \lambda_1^n + (2\lambda_2^n + \cdots + CN\lambda_N^n)$$

$$V_{C}[n] = k_1 \lambda_1^n + k_2 \lambda_2^n + \cdots + k_N \lambda_N^n$$

2 some repeated roots
$$(N-r+1)$$
 distinct roots $Q[\lambda] = (\lambda - \lambda_1)^r (\lambda - \lambda_{r+1}) \cdots (\lambda - \lambda_N) = 0$

$$V_{ZI}[n] = (C_1 + C_2 n + \cdots + C_r n^{r_1}) \lambda_i^n + C_{r+1} \lambda_i^n + \cdots + C_N \lambda_N^n$$

$$V_{c}[n] = (k_1 + k_2 n + \cdots + k_r n^{r_1}) \lambda_i^n + k_{r+1} \lambda_i^n + \cdots + k_N \lambda_N^n$$

$$\operatorname{Ast}[u] = |Y^{i}|_{u} (C^{i} \cos(\beta^{i}u) + C^{i} \sin(\beta^{i}u)) + \cdots + |Y^{\vec{n}}|_{u} (C^{n} \cos(\beta^{\vec{n}}u) + C^{n} \sin(\beta^{\vec{n}}u))$$

$$\operatorname{Ast}[u] = |Y^{i}|_{u} (F^{i} \cos(\beta^{i}u) + F^{i} \sin(\beta^{i}u)) + \cdots + |Y^{\vec{n}}|_{u} (F^{n} \cos(\beta^{\vec{n}}u) + F^{n} \sin(\beta^{\vec{n}}u))$$

$$h[n] = \frac{bn}{QN} \delta[n] + y_c[n]u[n]$$

$$N coefficients$$

$$Compute R[0], R[1], ..., R[N-1]$$

$$h[1] = h[-2] = ... = h[-N] = 0$$

Zero State Response

$y cn J = \cdots$	メ [-ユ]			אנין	X(1)	xU]	
	δ[η+2]	Scn+1]	S[n]	5Cn4]	ઈ . મ-ચ્	S[n-3]	

$$\Re[n] = \sum_{m=-\infty}^{\infty} x[m] S[n-m]$$

$$\chi[n] \longrightarrow \chi[n]$$

X[m]fi[n-m]

$$\sum_{m=-\infty}^{+\infty} \chi[m] \delta[n-m] \qquad \sum_{m=-\infty}^{+\infty} \chi[m] f_{n}[n-m]$$

 $\chi_{[n]}$

[r]y

$$y[n] = x[n] + h[n] = \sum_{m=-\infty}^{+\infty} \chi[m]h[n-m]$$

Cousality and ZSR

causal input
$$x[n]=0$$
 $n<0$
 $x[m]=0$ $m<0$

Causal system $h[n]=0$ $n<0$
 $h[n-m]=0$ $n<0$
 $h[n-m]=0$ $n<0$
 $h[n-m]=0$ $h[n-m]$

Causal input $h[n-m]=0$

Causal input $h[n-m]=0$
 $h[n]=x[n]+h[n-m]=0$
 $h[n]=x[n]+h[n-m]=0$
 $h[n]=x[n]+h[n-m]=0$
 $h[n]=x[n]+h[n-m]=0$
 $h[n]=x[n]+h[n-m]=0$
 $h[n]=x[n]+h[n-m]=0$

Convolution - Graphical Procedure

- |. |nvert ficm] about the vertical axis (m=0)

 => fic-m]
- 2. Shiftfic-m] by n units

 ⇒ fin-m]

3. multiply X[m] · h[n-m] for 0 < m < n

add all the products

$$y[n] = \sum_{m=0}^{n} \chi[m]h[n-m]$$

Everlasting Exponential Zn

$$A[u] = \psi[u] \times x_u$$

$$= \sum_{m=-\infty}^{\infty} \psi[m] \cdot x_{u-m}$$

$$= Z^n \sum_{m=-\infty}^{\infty} \Re[m] Z^{-m}$$

$$= Z^h H[z] \qquad H[z] = \sum_{m=-\infty}^{\infty} \Re[m] Z^{-m}$$

Transfer Function

LTID system only meaningful

Querlasting exponential
$$Z^n$$
: Started at $n = -\infty$

$$Z^n \text{ U[n]: Started at } n = 0$$

$$\Rightarrow \text{ initial conditions gives no contribution } \Rightarrow \text{ ignore safely}$$

[n+N] + a,y[n+N-1] +···+ αν+y[n+1] + αν γ[n] bν+η χ[n+M] + bν-μτι χ[n+H-1] +···+ bνη χ[n+1] + bν χ[n]

$$x[n] = \frac{z^n}{} + |[z]| + |[z]| + |[z]|$$

$$H[2](z^{n+N} + a, z^{n+N-1} + ... + a_{N+1}z^{n+1} + a_{N}z^{n}) =$$

$$(b_{N-M}z^{n+M} + b_{N-M+1}z^{n+M-1} + ... + b_{N+1}z^{n+1} + b_{N}z^{n}) =$$

$$E'y(n) = y(n+1)$$

$$E'y(n) = y(n+2)$$

$$\vdots$$

$$E''y(n) = y(n+2)$$

$$E''x(n) = x(n+1)$$

$$E''x(n) = x(n+2)$$

$$E''x(n) = x(n+2)$$

$$Q[E] = (E^{N} + Q_{1}E^{N1} + \cdots + Q_{N}) E + Q_{N})$$

$$P[E] = (b_{0}E^{N} + b_{1}E^{N1} + \cdots + b_{M}E + b_{N})$$

$$QFJ = (z^{N} + 0.z^{N1} + \cdots + 0.z^{N} + 0.z^{N})$$

$$QFJ = (b_{0}z^{N} + b_{1}z^{N} + \cdots + b_{N}z^{N} + 0.z^{N})$$

$$\chi(y) = \xi_{u}$$

E'4(n) =	- Hध र ⁿ⁺¹
E'Z["] :	= H(3) Z ¹¹⁺²
;	÷
E'z(n)	= Hwz ^{n+N}

$$E_{\lambda}\chi(\omega) = S_{\lambda+\gamma}$$

$$\vdots \qquad \vdots$$

$$E_{\lambda}\chi(\omega) = S_{\lambda+\gamma}$$

 $H[7]{Q[E]Z^n} = P[E]Z^n$ $E^kZ^n = Z^{n+k} = Z^{k} \cdot Z^n$





H[7] {Q[2] 2"} = P[2] 2"

$$(z^{N} + 0, z^{N+} + \cdots + 0, z^{N} + 0, z^{N+} + \cdots + 0, z^{N} + 0, z^{N} + 0, z^{N+} + 0,$$

Q[E] y[n] = P[E] x[n]

$$Q[E] = (E^{N} + 0, E^{N1} + \dots + 0_{N}) E + 0_{N})$$

$$P[E] = (b_{0}E^{N} + b_{1}E^{N1} + \dots + b_{M}) E + b_{N})$$

$$\mathbb{Z}\left\{Q[E] y[n]\right\} = \mathbb{Z}\left\{p[E] x[n]\right\}$$

[5]X[5] = Q[1]X[6]

H[7]{Q[E] 2"} = P[E] 2"

HCE Q[E] = P[E]

Total Response

total Response =
$$\frac{2}{2}$$
 | $\frac{2}{2}$ |

$$O(E) (\lambda^{\prime}(u) + \lambda^{+}[u]) = b(E) \times [u]$$

$$\mathcal{O}(E) \, \delta^{u}(u) + \mathcal{O}(E) \, \delta^{c}(u) = b(E) \times (u)$$

$$X(\omega) = L_{\omega} \quad (L + L_{\xi})$$

$$X(\omega) = Cos (\delta u + \delta)$$

$$X(\omega) = Cos (\delta$$

Initial Conditions.

Classical Method requires

aux conditions yco], yc(], ---, g[x-1]

Classical method does not separate

modes components of ZTR & ZSR

I.C must be applied to the total response

given I.C. y[-1], y[-2], -.., y[-N]

(ompate 800), 85(1), ---, 95x-1]

Exponential Input

$$H(r) = \frac{P(r)}{\Delta r}$$

$$E^{i}x[n] = x[n+i] = r^{n+i} = r^{i}r^{n}$$
 $P(E)x[n] = P(i)r^{n}$

$$C = \frac{P(r)r^n}{a(r)r^n} = \frac{P(r)}{a(r)} = H(r)$$

A Constant Enput
$$x[m] = C$$
 $Cr^n r - 1$

$$\begin{cases}
\begin{cases}
x[n] = C \frac{R(1)}{R(1)} = C \text{ HIII}
\end{cases}
\end{cases}$$
A Sinusoidal Input $x[n] = C^{152n}$ $Y^n r = C^{152}$

$$x[n] = C^{152n}
\end{cases}$$

$$\begin{cases}
x[n] = H(e^{i2n}]e^{i2n} = \frac{P(e^{i2n})}{R(e^{i2n})}e^{i2n}
\end{cases}$$

$$x[n] = C^{152n}
\end{cases}$$

$$x[n] = H(e^{i2n})e^{i2n} = \frac{P(e^{i2n})}{R(e^{i2n})}e^{i2n}$$

$$x[n] = (os Sin = \frac{1}{2}(C^{152n})e^{i2n})e^{i2n}
\end{cases}$$

$$x[n] = (os Sin = \frac{1}{2}(C^{152n})e^{i2n} + H(e^{i2n})e^{i2n})$$

$$= Re\left\{H(e^{i2n})e^{i2n}\right\}e^{i2n}$$

$$H(e^{i2n}) = H(e^{i2n})e^{i2n}
\end{cases}$$

$$H(e^{i2n}) = Re\left\{H(e^{i2n})e^{i2n}\right\}e^{i2n}$$

$$x[n] = (os (sin + 0)
\end{cases}$$

$$x[n] = (os (sin + 0)$$

$$x[n] = (os (sin + 0)
\end{cases}$$

Impulse Response when an=0

$$a_N = 0 \Rightarrow A_0 = \frac{b_N}{a_N}$$
 Independent in a fe

$$Q[E] y[n] = p[E] x[n]$$

$$Q[E] y[n] = p[E] x[n]$$

$$h[-1] = h[-2] = \cdots = h[-N] = 0$$

$$Region 1$$
 $n > 0$

:
$$ZIR(::x[n]=S[n]=0) \rightarrow Only$$
 mode terms

$$\beta [n] = A_0 \delta [n] + y_c [n] u[n]$$

Q[E] (A.8[n] +
$$(y, [n])u[n]$$
) = $(x, [n])u[n]$

$$A \cdot Q[E] \delta[n] = \gamma[E] \delta[n]$$

$$A_0 = \frac{bn}{Ou}$$

```
a_N = 0 \Rightarrow A_0 = \frac{b_N}{a_N} indeterminate
```

$$(E^{N} + a_{1}E^{N+} + \cdots + a_{N-1}E + a_{N})^{3}[n]$$

= $(b_{0}E^{N} + b_{1}E^{N+} + \cdots + b_{N-1}E + b_{N})^{3}[n]$

$$Q[E]y[n] = p[E]x[n]$$

$$Q[E]f[n] = p[E]S[n]$$

$$y[n+N-1] + a, y[n+N-2] + \cdots + a_{N-1}y[n] =$$

$$b_0 x[n+N-1] + b_1 x[n+N-2] + \cdots + b_{N-1}x[n] + b_N x[n-1]$$

$$(E^{N+} + a_1 E^{N-2} + \cdots + a_{N-2} E + a_{N-1}) y [n] =$$

$$(b_0 E^{N+} + b_1 E^{N-2} + \cdots + b_{N-2} E + b_{N+1} + b_N E^{-1}) x [n]$$

$$\widehat{Q}[E]y[n] = \widehat{p}[E] \times [n]$$

$$E(E^{N+} + \alpha_1 E^{N-2} + \cdots + \alpha_{N-2} E + \alpha_{N-1}) y[n] =$$

$$(b_0 E^N + b_1 E^{N+} + \cdots + b_{N-2} E^2 + b_{N+} E + b_{N}) E^{-1} x[n]$$

$$\widehat{Q}[E]y[n] = p[E] \times [n-1]$$

$$\widehat{Q}[E]h[n] = p[E] \times [n-1]$$

```
y[n+N] + a, y[n+N-1] + ... + ANY y[n+1] + any[n] =
bn x[n+N] + b, x[n+n-1] + ... + bny x[n+1] + bn x[n]
 y[n+N-1] + a, y[n+N-2] + ··· + AN+y[n] =
box[n+N-]+ b, x[n+N-2] + ... + bm x[n] + bn x[n-1]
E { y[n+N-1] + a, y[n+N-2] + -- + ANY [n] }
= E &[E] y[n]
  bo Ex[n+N-1]+biEx[n+N-2]+...+ bny Ex[n] +bn Ex[n-1]
= P[E] { Ex[n-1]}
E & [E] y[n] = P[E] { Ex[n-1]}
              = E P(E) \times [n-1]
  \hat{Q}[E]y[n] = p(E]x[n-1]
```

à[E] y[n] = P(E]×[n-1]

&[E] β[n] = P(E)δ[n-1]

the input $P(\epsilon)\delta[n-1]$ becomes zero for n>2not for n>1

the response consists of

Sthe zero input term

an impulse $A_0 \delta (n)$ at n=0an impulse $A_1 \delta (n-1)$ at n=1

R[n] = A 8[n] + A, 8[n-1] + y, [n] 4 [n]

to A, N-1 coefficient

 $a_{\nu} = 0 \Rightarrow a[r]:(\nu-1)$ order pulynomial

N+1 unknown coefficients

from N+1 Initial values 4 [0], A[1], ..., had

the iterative solution Q[E] R[m] = p(E)8[m]

if an = an = 0 R[n] = A08[n] + A18[n+] + A28[n-2] + Y2[n] U[n] N+1 unknown coefficients from N+1 Initial values \$100, RC13, ..., had